[ Efficiency vs vertpos |
~ 0.0]

D 009F- -+ T R SRR RRIE X REI
0 H H .
D.008F--++-+x++ HERE CEEEEEEED Breeeeenene i IR
o . . .
B.007F -
O
89,006+ -
0.005fF -+ R R SRRRREN IEECE | EELTENE
0.004f -+ i
0.003f -+
0.002f -+ i
0.004]

My

Ratio

10 0?
TP vertr (cr%)

Efficienq ——

—a— DUIVITT OTTgIar

—e— DOM_TT—mod_| 4_trut fipa] mode| TFST-

—— DOQM_TT—mo 47t t?lhts mo eJ
D 1T t |Pa rerg mode]
D thallhits_reg_mo

5
%lE_ST
elTES

2

12
T-11

~0.05
9.045
[d
£0.04
oy
9,035
‘©
£0.03
()
0.025
0.02
0.015
0.01
0.005

.................................................

.................................................

..........................................

Ratio
N

T T T T T[T T TN T T T T T[T [T ITTT

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.07
>
f0.009
B.008
$.007
>
B.006
o
$#.005
[J]
0.004F
0.003
0.002
0.001}

n
(o)

Ratio
e
aN

<)
N
T

15
Sim. PV z (cm)

0 10 20 30

20




	Contents
	Page 1


